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#include <stdio.h>
void main() {

int a, b, v
a=10;

Private Sub Form_Activate ()
Dim a, b, y As Integer
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return func(n /10)+n % 10;

C A0 gl HolE AN
int func(int n){ Function func(n) As Integer
if(n==0) If n =0 Then
return 0; func = 0
else Else

func=func(n W10) +n Mod 10

} End If
End Function
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#include <stdio.h> Private Sub Form_Activate()
void main(){ Dim a, b As Integer
int a, b; Oim n(), p() As Variant

char n[]="SEQUL";
char p[]="ELOSU";

n() = Aray('S' "€","0","U","L")
p() = Array('E",'L" '0","S","U")

for(a=0; a<=4; a++){ Fora=0To 4
for(b=0; b<=4; b++){ Forb=0To 4
if(n[al==p[b]){ If n(a) =p(b) Then
printf("%d", b); Print b; : Exit For
break; End If
} Next b
1 Next a
} End Sub
}
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#include <stdio.h> Private Sub Form_Activate() B8+ 108 98 88 8 68
void main(){ Oim a, b As Integer == 30K 2 400 18 294
int a5 O |, b= (Lh |; a : b= (LD
while(a < b) { While a < b C oo HIZ=Z WX o]
a= a+1:' E B ‘Zj #include <stdio.h> Private Sub Form_Activate()
}b =b-1% Wen(; void main(){ Dim sum As Single
orinti("%d", a-b): Print a-b Tloat sum:O:. Dim a, num, w(), n()
} End Sub int a, num=0: w() = Aray(10, 9, 8, 7, 6)
int w[5]={10,9, 8,7, 6} n() = Array(3, 2, 4, 1, 2)
@® @ ® @ ® int n[5]={3, 2,4, 1, 2}; num = 0: sum = 0
on - 1 1 6 7 for(a=0; a<=4; a++){ Fora=0To 4
(Lh q 4 7 10 11 Sum=|:|i sum = |:|
num=num-+nlal; num = num + n(a)
} printf("%f", sum/num); Next : Print sum / num
} End Sub
13 TS =glalol 20t ‘&'Y HR, B4 a, b, ¢, d2 U2
go o9 C 20 Hi=<g HI0I& A
® | wlal*nla] w(a) * n(a)
C o0l | (c>b) 8& (b<d) 8& (a<c) && !(a<=b) @ | wlal+nlal wla) + n(a)
T ® | sum+wlal sum + w(a)
H1|0|;'_i|0'| (c>b) And (b<d) And (a<c) And Not(a<=b) @ | sum+w([al+n[al sum + w(a) + n(a)
® | sum+wl[a] *n[a] sum + w(a) * n(a)
a b c d
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® 30 50 60 40 16. Tt Z2030| Ad 22 282 427 [3E]
® 40 30 60 50
@ 40 50 60 30 C otof HIZZ HI0I% etof
® 60 40 30 50 #include <stdio.h> Private Sub Form_Activate()
void main(){ Dim a, b, k As Integer
int a b, k Dim n(2, 2) As Integer
S D20 AH 2TE S oo [3H int n[3][3]; a=0b=0k=0
a=0; b=0; k=0; o
= o4 X do{ K=kt
C o =g HI0I& A -
Kb+ nla, b) = k
. ; Private Sub Form_Activate() i a=a+ 1
< h> .
#'hdc'“de_ ()S{td'o " Dim S0, n() As Variant nlallbl=k it a> 2 Then
Vp't Tj]'rl“ 4,16, 64}: Dim a, b(3), su, ¢ As Integer att; a=bt1: b=3
!”t 3[4]:{3' el s() = Array(1, 4, 16, 64) if(a>2) {a=b+1; b=3;} '
o ol ol n() = Array(3, 3, 3, 3) bee: End If
sumto o su =120 if(b<0) {b=a; a=0:} b=b"1
fsé‘r_(azs.‘ 2520 2] For a = 3 To 0 Step -1 ‘ e &=y If b<0 Then b=a: a=0
=0 =0 hwhile(k<9) Loop While k < 9
while(su>=s[a] && c<nlal){ While su>=s(a) And c<na) for(a=0; a<=2; a++){ For a=0 To 2
- ) su = su - s(a) for(b=0; b<=2: b+4) or a=0 To
sufs'u—s[a], c=c+1 OMb=v: be=c. For b=0 To 2
} o Wend printf(*%d *, nfal[bl): Print n(a, b);
b lal=c: bla) = c printf("Wn"); Next b: Print
} al=c Next a } Next a
for(a=3: a>=0; a—-) Fora =3 To 0 Step -1 } End Sub
prnif%d". blal) print ble) -
} printi{™7d", blal); Next a
End Sub ©) ® ® @ ®
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C elof HIZZ HIOIE o10f C elof HIZZ HIOIE 10f
int funcint n, int m){ Function func(n, m) As Integer #include <stdio.h> Private Sub Form_Activate()
while(n >= m){ While n >=m void main(){ Dim a, b, sum, r as Integer
n=n-m n=n-m int a, b, sum, ©; sum = 0
} Wend sum=0; Fora=1To 4
retun n; func = n for(a=1; a<=4; at++){ r=0
} End Function r=0: Forb=1Toa
for(b=1; b<=a; b++) r=r+a
@ @ ® @ ® r=r+a; Next b
SUM=sum-+r; sum =sum + r
(o] — *
A % / * } Next a
HIZ=2 HIOI= 2101 | Mod \ - * + printf("%d", sum); Print sum
} End Sub
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#include <stdio.h> Private Sub Form_Activate( ) T
void main(){ Dim n(2,2) As Integer C ol0] HIZ=2 HIOIR ol0]

int n[31[3]={{19,20,16},
{11,12,22}, {21,17,13}};
inta b, Xx vy, z
for(x=0;x<=2;x++){

Dim a, b, x,y,z As Integer

n(0,0)=19:n(0,1)=20:n(0,2)=16
n(1,0)=11:n(1,1)=12:n(1,2)=22
n(2,0)=21:n(2,1)=17:n(2,2)=13

for(y=0;y<=2;y++){ Forx=0To 2
for(a=0;a<=2;a++){ Fory=0To 2
for(b=0:b<=2;b++){ Fora=0To 2
if(n[x][yl<n[al [b])}{ Forb=0To?2
z = nlx]lyl; If n(x,y)<n(a,b) Then
—T 8
nlallb] = z L ]
} nla,b) =z
1 End If
for(a=0;a<=2;a++){ Next: Next: Next: Next
for(b=0;b<=2:b++) Fora=0To2
printf("%d ",n[allbl); Forb =0To 2
printf("Wn"); Print n(a, b);
} Next: Print : Next
} End Sub
C 2o HIZ=Z HI0I= 210
@ | nix]lyl=nlallb] n(x, y)=n(a, b)
@ | nlyllx]=n[b][al n(y. x)=n(b, a)
® | z=nlx]lyl+nlallb] z=n(x, y)+n(a, b)
@ | nlallbl=z+n[x]ly] n(a, b)=z+n(x, y)
® | nixllyl=n[2-a][2-b] n(x, y)=n(2-a, 2-b)
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#include <stdio.h>
int n[3]1[3]={{10,20,30},
{40,50,60},{70,80,90}};

Dim n(2, 2) As Integer
Function serohap() As Integer

Dim a, r As Integer

r=20

int serohap(){ Fora=0To 2
it s, I
r=0; Next a
for(a=0: a<=2; at++){ serohap = r

l:|; End Function

} Private Sub Form_Activate()
return r; n(0,0)=10:n(0,1)=20:n(0,2)=30
} n(1,0)=40:n(1,1)=50:n(1,2)=60
void main(){ n(2,0)=70:n(2,1)=80:n(2,2)=90
printf("%d", serohap()); Print serohap
} End Sub

C o0f g1Z=g HI0I& o)

@ | r=n[0][a] r = n(0, a)
@ | r=nla]lal r=na a)
@ | r=nla]l1] r=nla 1)
@ | r=r+nlall0] r=r+n(a0)
® | r=nla][0]+n[0][a] r =n(a, 0) + n(0, a)

5



]
Ot

[}



